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Register :
Number

seaflsb / MATHEMATICS
( Tamil & English Versions )

Cmybd : 2 %wmﬂ ] _ [ Qurgs wHiGueser : 100

Time Allowed : 2 % Hours ] | Maximum Marks : 100

@iy | Instructions :

i)

iii)

@euallamsarer previg LGsst CeTaTg). euQeur@® uEHuller weteub
Qar@ssiuL erer GPlyssNdig elowsfssaj.

This question paper consists of four Parts. Read the note carefully under
each Part before answering them. :

erTTEID, TWHED HBsswrs BBsse CaHb. aloLsenéefiu 2 sall
ugsemen ( Rough work ) efleoLgsrefler Sipiugdiled Gselarss sm Layb.
Write legibly. The rough work should be shown at the bottom of the
pages of the answer-book. _ _
Coreumpdies oeflésiu@d wLLsos, wsCsramalud oL aaamer
GG LwETLRSSayD. -

The logarithmic and trigonometric tables issued at the centre alone should
be used. :

UGS - o / PART - A
(vfQuesiser : 15) / ( Marks : 15)

edloy | Note : i) %ﬂu@@uﬂé eoten ugloarps eflaTseensed

oL wefl&seab.
This part contains fifteen questions. Answer all the
guestions. .

i) @iiflallé paiQarg alaralbed, preére wrvn el ser
2eflesiuPeiotar.  ouble shurer Sveng Blsll
Quresswrea alorllomas Caira Qeig, Ssames ©N&E b
&5 ( Alphabet ) aflom eeor GHII G oo gsrefld
TRSD. !

Each question has four choices. Choose the correct or the
most appropriate one among them and write down the
alphabet indicating the response. 15x1 =15

1. 54, 18,62, .. a&mp Queses@sr i aflosilsd Qupse aldsh

a)

c)

The common ratio of the G.P. 54, 18, 6, 2, ... is
1

3 : b) 3
! i

2 \ d) 3 -
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2. 1+2+3+...+n=

n+1

a) 5 b) n(n+1)
nin+1) n(n+1)

c) ——-—-—~—-—-—-2 d) —'——_“—3 s
3. &bllér Qursst yplurly

The total surface area of a cone is

) mr2l | bl

o wnr(l+r) d) %nrzh.
4, A'NB!=

3 A'UB' b (ANB)

¢ (AUB)' : d ANB'.

5. A={1.2.3,45) B={2546) aaie A~B=
If A={1,2,3,4,5}, B={2,3,4,6} then A-Bis

a {1,2} b) {1,5}
d {26} a {16}

6. m% m!12, m!® & S.Qur.eu
The G.C.D. of m%, m!2, m18 is

a) mé& . ) ! b) m 18
el” m* ' ' d m38,
7. 16x2y*z!6 &1 arssmpeb

The square root of 16x2y4z1© js

a + 4xy?z4 b) =+ 8xy?2z8

¢ % 4xy?zs . - | d £ 8xy2z4.
8. s gL srabd a@sss QardEnD LTos eresTLIg)

a AL sder are SieTey b) Qsuwé

c Zrasesbs LTos - d papey.
The path that takes the longest duration is called '

a) project duration b) activity
¢) critical path d) event.



10.

11.

12.

13.

14.

15.

3 - | 4018

o0 CaTiyé S@bUTs ey yereflae aufiCu auepuiu@b el hisefler
6T 6501 6001 608
The number of circles that can be drawn through three non-collinear points, is

a 1 . b) 2

c 3 : d 4.

Q0 eaysdler wpoaailLb 5V2 m aaflé, sarsdleT LSS SeTay

The length of the diagonal of a square is 5V2 m. Then, the length of the side is
a 10V2m b) 5m

9 +V2m d 10m.

2y = 3xaad1p Cpir&Gamiiger smiey

The slope of the line 2y = 3xis

a 3 b) 2

3 2
c) 5 d) 3 - | |
(8 2)whob (4, 6) gdu ysreflamears Catseb "CrpiéCamr @d gedomge
eowiisiref] ' ' ' ;
The mid-point of the line segment joining the points (8, 2) and (4, 6) is
al (2:2) | b) (6,4)
¢ (4,.4) d (2,-2).
cos 6 = \(% aracflen, O -allesr iy
If cos @ = £ 5 , then the value of 8 is

V2

a 30° b) 45°
¢ 60° d) 90°.

L - SuQu@ wiy, S - $68p vy aaflé afée
If L is the largest value and S is the smallest value, then the range is

a L-S b) L+S
L+S L-8
&8 T-8 ' A res

S UsOL HPemD 2 (BLLLU@D Qurepsl, spiheop eresor SHeoLés [5159955'614
If a die is rolled once, then the probability of getting an odd number is

a) b)

N|= =
INTORAS)

c) d)
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16.

17.

18.

19.

20.

21.

22,

23.

4

u@g - 2, / PART - B
(weiQuesorser :  20) / ( Marks : 20)

eoluy | Note: 1) @uuedllile Qar@ssuul@eier udloearpg eflarssefle
gCseub uss alamésEnsE WL Pb aloLweflssab.
Answer any ten from the fifteen questions.

) elerser QupiulL auflpepsdr QeT@ésuuL. Caimo@b.
Show all the steps. 10x2 =20

9,8, 1; ... v&1p QUBSHESGS it mﬂ@&tﬁ!@ 7-6ugl 2-pIlieOLS &ITeoIs.
Find the 7th term of G.P. 9, 3, 1, ... .

iy sredms : 11 + 12 + 13 + ... + 30

Find the value of 11 + 12 + 13 + ... + 30

yotugly 36x egy &8, Qareoi Cametsgler seriene| &HTes.
Find the volume of a sphgre. whose surface area is 367: cm?2,
QeuetoruL b eusoys : A-— (B C).

Draw the Venn diagram of A- (BN C).

Senarss seod E={1,2,3,4,56,7}, A={3, 4,56},
B={1,2234}.aeflé (AN B)' g srams.

The universal set E={1,2,3,4,5,6,7}, A={3,4.5,6},
B={1,2.3.4}.Find(ANB)'.

(x-2)oerg P(x)=2x2-7x + 6 aaip uogpiys GCaroald o
STTENUTGD eTeo1dh ST (. |
Show that ( x -2 ) is a factor of P ( x) = 2x2 - 7x + 6.

(x2-9) wpmid (x2+6x+9 ) S flwaipBles 8.Qur 1. sTHTS.

Find the L. C. M. of (x2-9 ) and (x2+6x+9).

euewy) : ghysmLw uGd ( feasible region )

Define feasible region.



24.

25.

26.

27.

28.

29.

30.

2 : 4018

SpéaTamb UL x -6 wFious ST aons.
Find the angle marked as x in the following :

: Sp&ergmid UL Sl gnen‘?sr-&m AB-yb, CD-yb e L gSleierGen P ereiip erefufieo

Qa1 60 smerdldrper. CD aap CaTlBSeIey & Hensmsé HTens. :
Chords AB and CD cut at P inside the circle as in the given figure. Find the

length of the segment CD.
A '

5 s

7x -5y = kaerp Cpr&Camirearg (1, 1) eresip yefref aflurss Ceadpg aafld,
k-éb1 wEI wrg) ?

If the straight line 7x - 5y = k passes through the point ( 1, 1), find k.

3x + 2y + 1 = 0 asbigid Cpi&Camigsr srla bhpb y-&1 Sés Cu GsacTl
&ITCToT & :

" The equation of a straight line is 3x + 2y + 1 = 0. Find its slope and y-intercept.

6 Qa.5. Uss Sma OeraTL @6 UEEe SDCsravsilad Sowbs
2 _effeul L $S6T U THSS HTEToTs.
Find the radius of the incircle of a regular hexagon, each side of length 6 cm.

37, 39, 33, 46, 48, 52 a&dlp usrell elaurhsepbe alsas Qo sres.

‘Calculate the coefficient of range for the data 37, 39, 33, 46, 48, 52.

Gy Crrsdle epeiy BrevTuhser s UL@D Gurg, sflurs Grean® g;séweua-.«sr‘r
OLLUUSDHSTET H&HDSEa| eTeTar 2 : i
Three coins are tossed simultaneously. Find the probability of getting two heads
exactly. :

[ Turn over



4018 ' 6

uedl - @) / PART - C
(w@llQusmaer : 45) / ( Marks : 45)

egliy/ Note: 1) @Quuedde 10 alaméser o ererer. eaitlam@ allarealaub

E\® wrhp eleTTéss 2 stenat.
This part contains 10 questions each with two alternatives.

i) gdaearp oflomalend o erer @@ wrpg afarrésaia
gohloas Csmb0s0ss, Qurssb getug mﬂsoma,as@é,@
oL wellée Ceouetor(ib. :
Choose either of the alternatives in each question and

answer any nine questions.

i) Cowawrer QLasdle Ozellarer ugser, uLhser

Oer@ésiu. Ceuasor@ibd.
Steps and diagrams should be shown wherever necessary.
9x5 =45

3l. a vy srzs :
400 + 441 + 484 + ... + 1600.
Find the value of the following :
400 + 441_ + 484 + ... + 1600.
<evevgl / OR
b] 3+334+333+..aemp Qerenis neglisdisr am@sdh sres.
Find the sum of n terms of the series 3 + 33 + 333 + ... .
32. a 450s4. cugpsien g ardlfdsr Qoupwd SoBHS LSS 2y yhiset
- eoopGw 28 Qs u8., 7 Qs uf. Scheurefiles @aarrsfrsfrsna:om& ST EToT5,

If the radii of the circular ends of a bucket of height 45 cm are 28 cm and
7 cm, find the capacity of the bucket.

<evevgy / OR

b) 3 alliieier ey 20 of 2 Ppsdde GCoraoLiudps. Gsmedmg l

.sr@a'ss.ﬁrun'.t_ weser 1518 2 wyapefrer QL Cri .auuhurrs: @a&lé&ﬁﬁﬁ@aﬁ]mg sréuﬂé:,
abUfler Supd sres. Vot .

A.well of diameter 3 m is dug to a depth of 20 m. The sand taken out.is

heaped into a right circular conical pile of height 15 m. Find the radius of
the conical pile. '



33.

34.

35.

b)

b)

b)

7 gy 4018
G poTsHle eudliuautas 65% Guir gblb ,. 52% Gur?'@rj;éﬂulb, 40% egaSHD
Guit wevewretapd Cusdprisst. 30% Gui sflab, QbSlub; 32% Gurr sllwb
e W e (pb; 25% Guit Qbélyb, Lnana)u.l.rren(g)to; 10% Guir @bepen
Quresmergseally wHpp OCurflsemeryd Cuadlpriser eaefléd, apamy
QurPesenyd Cuss Qsfbsarss assomer egalsb 2

65% of the people in a city speak Tamil, 52% speak Hindi and 40% speak

> Malayalam. If 30% speak both Tamil and Hindi, 32% speak both Tamil ain_d

Malayalam, 25% speak both Hindi and Malayalam and 10% of the people
speak other different languages, find the percentage of the people who can
speak all the three languages.

@;@@@/OR
QleucsoruL g6l ped Hieslés : A-(BUC)=(A-B)N(A-C).
Prove A-[BU C)=(A-B) N (A-C) by Venn diagrams.

8x%+ x%+ax?+5x+ b aergd Csremeu x +2 Cuoaibd x - 1 Hwappre

- Bl auguLLme a, b s fluaipdiar wiysaené sTakrs.

Find the values of a and bif 3x*+ x3 + ax? + 5x+ b is exactly divisible

by x+ 2 and x- 1.

2evevg [.OR
Sogoo L XI=Qk8 W81 %2 Txer 12
TRl s xZ2-4x-12 * xZ-9x+ 18"
' x2-2x-8 4x-8 x2-7x+ 12
=il X — 2 >(x2-4x—12+):2---9x+18'

QItésaped STes @ 16x2 — 24x3 — 31x2 + 30x + 25.
Find the square root of 16x4 - 24x3 - 31x2 + 30x + 25.
<evevg [/ OR

giremad sreois :Vx+5 = 2x + 3. ;

Solve Vx+5 = 2x+ 3.
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36. a) &pssrgmid SELEUTRs® UL wopds giés i
x-y 2 2 |
3x + 2y <21.
( cueyUL gTeven 2 LGWTE&8S5 Casoaufldvens )

Solve graphically ( without using graph sheet ) :

xX-y 2 2
3x + 2y 521.
Zevevg / OR
b e HLsdd .&iL’..l.G)JGb)éSUT SleTeumorm :
Qews 1-2|1-3|2-4|2-3|3-4[3-5]|4-5
HTeV &mq(@ﬂ;&.(‘;ﬁé\;) 5 | 8 7 6 5 4 8

i) UL LILD 6UeDE.
i) Srabeshs UTOows STs.
i) BT eTENCUS HTETITS.

For the followmg table,

Activity 1-2|1-8|2-4|2-3|3-4|3-5]4-5

Duration indays| 5 8 7 8 5 4 8
1] Draw the network for the project -
i) Find the critical path
i) Compute the project duration.
37. a ‘96 @éaGa_arrcwrg,é'\d) geras 96 Gsramsdlar G@GswL Qeul g,
25Caramsdlean alifiusEssos, Caremisdlen &3 SGsgehern uS SRS eT
Nfasde INseD” aer Hpeas.
Prove that “the bisector of ény angle of a triangle divides the opposite side .
in the ratio of the corresponding adjacent sides”. '

Syevevg/ [ OR



38.

39.

b)

b)

b)

< 4018
A, B, C ouw smmmrﬂassnrrssés- QaraoL el Lkser OGeaeals0sTHems
Qe&rco@ereter. AB = 7 Qs.f., BC = 10 Q&.5.,, AC = 9 Q&.15. srcoﬂéo,
SyTRseNeST BeThiaa@ens: SHTeoTs.
Three circles with centres at A, B and C touch each other externally. If
AB=7cm, BC=10cm and AC = 9 cm, find their radii. :

(x,-11), (2 3)wpob (4, -1) du yereflash oGy Cpr&Camiged
SOLHSTE X-651 HIOUs ﬁrrcz_:'ur‘_e;.‘
If(x -11),(2,3)and (4, - 1) lie on a straight line, find x.

| <éevg / OR
2x-y+5=0,x+y+1=098u CrisCarfes OGarys Qsamerepd
yerefldler euflurseayb 3x-y + 1 = 0 aaip Cri&Cariype G oeTursayb
Qaweu@b CrraGamiqeT sLETUTL @LE HTEDs.
Find the equation of the straight line passing through the point of

intersection of the straight lines 2x-y +5=0and x+y +. 1 =0 and
parallel to the straight line 3x-y+ 1=0.

Sqluss perd 16 Qs.f., 2 5d6Gsramb 57° QeraiL gf @ BELUSS
w&Caremigdler Lylys sredors. (tan 61° 30! = 1-842 ).

Find the area of an isosceles triangle with base 16 cm and vertical

~angle 57° (tan 61° 30' = 1-842).

gevevg) / OR
200 f 2 uppeier QG SISO aﬂm&&,gélsﬁ;r 2 80N Bha oz
@ouphseiles 2 eter sludsalldr Qné&ss Careomsst wepGu 30°, 45°
aaflé, @reo® sliudsEnsbe QoL Quusier Brrsamss sy sseab.
From the top of a lighthouse, the angles of depression of two ships on

either sides of the lighthouse are observed as 30° and 45°. If the height of
the lighthouse is 200 metres, find the distance between the ships.
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40. a 16, 13, 17, 21, 18 e nﬂeﬁgﬁ:ﬁ@é@ pIpUTL0& Qawead sres.

b)

Find the coefficient of variation of the following data :
| 16, 13, 17, 21, 18.
Zeevg / OR
fyren useoL @& 2 GLLULGHDE. SpeHeTEID EERIETC L
NEEELREL e
) useLWedr wsb 3-p& sTLHS®

i)  l-g oo Quilu aater feLpse

i) heop e useL e wesslée Caraipgen
iv) useoLlld wasdled 6-61 uaThaTTRNS aBSHE.
A fair die is rolled. Find the probability of getting (i) 3 on the face of the

die, (ii) a number g_reater than 1 on the face of the die, (iii) an odd nur_nber

on the face of the die and (iv) prime factors of 6 on the face of the die.

u@d -7 / PART - D
(wHQuetorser : 20) / ( Marks : 20)

efloy | Note: 1) @ruedie Qo olaméss 2 sierer. Qe aflamailgd

41.

@® wrHp efleTTéee 2 eerer.
This part contains two questions, each with two
alternatives.

i) @aCars ellamalyibd e LTHDI amealeoad Cariey Clgls,
- @6 damssaseh aloLwefssab.

Answer both the questions choosing ¢éither of the

alternatives. 2x10 =20

PQ = 4.5 Qs.5. QR =55 Qs.5. PR =65 Qs.5. PS = 4 Q5. Sjenaysef
Q&reorL. PORS eredip eul L BTH&TD eUeD]S.

Construct a cyclic quadrilateral PORS given PQ=45cm, @R =55cm,
PR=6:5cm. and PS=4 cm

<eevg / OR



42,

b)

b)

11 _ 4018
PO =60s.f. m Z R = 40° 2.6 R f®hs PO 46 cueyuiu@id

©585CaT g6 et 4 Ga.f. erer G BEGDbLY POR eredtp pé&Gamemid auays.

Construct a triangle POR such that PQ = 6 cm, m £ R = 40° and altitude

from R to PQ is of length 4 cm.

y=x2-4x+ 3 Qe aupuLd eurhal, s wod x2 - 4x+ 3 =0 aerp
SDESTUTL LS ST&s.
Draw the graph of y =x2 - 4x + 3 and hence solve the equation

x2-4x+3=0.

yevevgy /| OR
BTG ubysends Qerai® GG sETant CQarigulle B Biyiu 72 wewf
Cryoreb oo scsdLuu@dpg. 48 vaxll Cprsdle Osrigdle Py
QPewwuTs By adgemer ublyssr Coemalil@b eTar eueTULID (PID ST s.
It is estimated that the water tank can bé filled in 72 hours if 4 pumps are

used. Find graphically how many pumps would be needed to complete the

work in 48 hours.




